BIDDER SUMMARY SHEET

21-038 Silver Lake West Water Main Replacement

Business Name: _	Austin	Tyler	Constructio	n, inc	
Street Address:	23343 S Ridge Road Elwood, IL 60421				
City, State, Zip:			JOU, IL 00421		
Contact Name: _	Gar	y S. Sc	chumal		
Title:	Pre	side	mt		
Phone: (SIT)	726-1090 GSCHUNN		Fax: _ (&	15) 726	-1171
E-Mail address: _	G SCHUW N	ه ا	AUMO	- Tylen.	co-
Complete the u	<u>Pr</u>	ice Pro	<u>posal</u>		
GRAND TOTAL	•	\$_	2,49	2,289.	00
	<u>AUTHORIZ</u>	<u>ATION</u>	<u>& SIGNATURE</u>		
Name of Authoriz	ed Signee:		Gary S. Schur	mal	
Signature of Author	orized Signee:		Day S A	hil	
Title:	President		Date:	: Jun	7,2021

1



Bidders shall complete this Certificate of Compliance. Failure to comply with all submission requirements may result in a determination that the Bidder is not responsible.

The undersigned Gary S. Schumal (Enter Name of Person Making Certification)		
	renier iname of reison making Cermicalion	
as	President	
	(Enter Title of Person Making Certification)	
and on behalf of	Austin Tyler Construction, Inc	
-	(Enter Name of Business Organization)	
certifies that Bidder is:		
1) A BUSINESS ORG	ANIZATION: Yes 🔼 No []	
Federal Employer	I.D. #: 38 - 39 00 388 (or Social Security # if a sole proprietor or individual)	
The form of busin	ess organization of the Bidder is (<i>check one</i>):	
Sole Proprieto Independent (Partnership LLC Corporation	Tunner $\frac{3}{2013}$ (State of Incorporation) (State of Incorporation)	

2) AUTHORIZED TO DO BUSINESS IN ILLINOIS: Yes [X] No []

The Bidder is authorized to do business in the State of Illinois.

3) ELIGIBILE TO ENTER INTO PUBLIC CONTRACTS: Yes [No []

The Bidder is eligible to enter into public contracts, and is not barred from contracting with any unit of state or local government as a result of a violation of either Section 33E-3, or 33E-4 of the Illinois Criminal Code, or of any similar offense of "bid-rigging" or "bid-rotating" of any state or of the United States.

4) SEXUAL HARRASSMENT POLICY COMPLIANT: Yes No []

Please be advised that Public Act 87-1257, effective July 1, 1993, 775 ILCS 5/2-105 (A) has been amended to provide that every party to a public contract must have a written sexual harassment policy in place in full compliance with 775 ILCS 5/2-105 (A) (4) and includes, at a

2

21-038

minimum, the following information:

(I) the illegality of sexual harassment; (II) the definition of sexual harassment under State law; (III) a description of sexual harassment, utilizing examples; (IV) the vendor's internal complaint process including penalties; (V) the legal recourse, investigative and complaint process available through the Department of Human Rights (the "Department") and the Human Rights Commission (the "Commission"); (VI) directions on how to contact the Department and Commission; and (VII) protection against retaliation as provided by Section 6-101 of the Act. (Illinois Human Rights Act). (emphasis added). Pursuant to 775 ILCS 5/1-103 (M) (2002), a "public contract" includes "...every contract to which the State, any of its political subdivisions or any municipal corporation is a party."

5) EQUAL EMPLOYMENT OPPORTUNITY COMPLIANT: Yes No []

During the performance of this Project, Bidder agrees to comply with the "Illinois Human Rights Act", 775 ILCS Title 5 and the Rules and Regulations of the Illinois Department of Human Rights published at 44 Illinois Administrative Code Section 750, et seq.

The Bidder shall:

(I) not discriminate against any employee or applicant for employment because of race, color, religion, sex, marital status, national origin or ancestry, age, or physical or mental handicap unrelated to ability, or an unfavorable discharge from military service; (II) examine all job classifications to determine if minority persons or women are underutilized and will take appropriate affirmative action to rectify any such underutilization; (III) ensure all solicitations or advertisements for employees placed by it or on its behalf, it will state that all applicants will be afforded equal opportunity without discrimination because of race, color, religion, sex, marital status, national origin or ancestry, age, or physical or mental handicap unrelated to ability, or an unfavorable discharge from military service; (IV) send to each labor organization or representative of workers with which it has or is bound by a collective bargaining or other agreement or understanding, a notice advising such labor organization or representative of the Vendor's obligations under the Illinois Human Rights

Act and Department's Rules and Regulations for Public Contract; (V) submit reports as required by the Department's Rules and Regulations for Public Contracts, furnish all relevant information as may from time to time be requested by the Department or the contracting agency, and in all respects comply with the Illinois Human Rights Act and Department's Rules and Regulations for Public Contracts; (VI) permit access to all relevant books, records, accounts and work sites by personnel of the contracting agency and Department for purposes of investigation to ascertain compliance with the Illinois Human Rights Act and Department's Rules and Regulations for Public Contracts; and (VII) include verbatim or by reference the provisions of this Equal Employment Opportunity Clause in every subcontract it awards under which any portion of this Agreement obligations are undertaken or assumed, so that such provisions will be binding upon such subcontractor.

In the same manner as the other provisions of this Agreement, the Bidder will be liable for compliance with applicable provisions of this clause by such subcontractors; and further it will promptly notify the contracting agency and the Department in the event any subcontractor fails or refuses to comply therewith. In addition, the Bidder will not utilize any subcontractor declared by the Illinois Human Rights Department to be ineligible for contracts or subcontracts with the State of Illinois or any of its political subdivisions or municipal corporations.

21-038

Subcontract" means any agreement, arrangement or understanding, written or otherwise, between the Bidder and any person under which any portion of the Bidder's obligations under one or more public contracts is performed, undertaken or assumed; the term "subcontract", however, shall not include any agreement, arrangement or understanding in which the parties stand in the relationship of an employer and an employee, or between a Bidder or other organization and its customers.

In the event of the Bidder's noncompliance with any provision of this Equal Employment Opportunity Clause, the Illinois Human Right Act, or the Rules and Regulations for Public Contracts of the Department of Human Rights the Bidder may be declared non-responsible and therefore ineligible for future contracts or subcontracts with the State of Illinois or any of its political subdivisions or municipal corporations, and this agreement may be canceled or avoided in whole or in part, and such other sanctions or penalties may be imposed or remedies involved as provided by statute or regulation.

6) PREVAILING WAGE COMPLIANCE: Yes No []

In the manner and to the extent required by law, this bid is subject to the Illinois Prevailing Wage Act and to all laws governing the payment of wages to laborers, workers and mechanics of a Bidder or any subcontractor of a Bidder bound to this agreement who is performing services covered by this contract. If awarded the Contract, per 820 ILCS 130 et seq. as amended, Bidder shall pay not less than the prevailing hourly rate of wages, the generally prevailing rate of hourly wages for legal holiday and overtime work, and the prevailing hourly rate for welfare and other benefits as determined by the Illinois Department of Labor or the Village and as set forth in the schedule of prevailing wages for this contract to all laborers, workers and mechanics performing work under this contract (available at https://www2.illinois.gov/idol/Laws-Rules/CONMED/Pages/Rates.aspx).

The undersigned Bidder further stipulates and certifies that it has maintained a satisfactory record of Prevailing Wage Act compliance with no significant Prevailing Wage Act violations for the past three (3) years.

Certified Payroll. The Illinois Prevailing Wage Act requires any contractor and each subcontractor who participates in public works to file with the Illinois Department of Labor (IDOL) certified payroll for those calendar months during which work on a public works project has occurred. The Act requires certified payroll to be filed with IDOL no later than the 15th day of each calendar month for the immediately preceding month through the Illinois Prevailing Wage Portal—an electronic database IDOL has established for collecting and retaining certified payroll. The Portal may be accessed using this link: https://www2.illinois.gov/idol/Laws-Rules/CONMED/Pages/certifiedtranscriptofpayroll.aspx. The Village reserves the right to with this provision of the Act.

7) PARTICIPATION IN APPRENTICESHIP AND TRAINING PROGRAM: Yes No []

Bidder participates in apprenticeship and training programs applicable to the work to be performed on the project, which are approved by and registered with the United States Department of Labor's Office of Apprenticeship.

21-038 4

Name of A&T Program:	UNION	Spow sones	
Brief Description of Program:	LABORÊNS	TLOCAL 75-	IL017-0602
OPERATORS	LOCAL 150	- IL008780	173
CEMENT F	. WISHEN LOC	ar 11-ILou	4890005
TAX COMPLIANT: Yes M	o []		

8)

Bidder is current in the payment of any tax administered by the Illinois Department of Revenue, or if it is not: (a) it is contesting its liability for the tax or the amount of tax in accordance with procedures established by the appropriate Revenue Act; or (b) it has entered into an agreement with the Department of Revenue for payment of all taxes due and is currently in compliance with that agreement.

AUTHORIZATION & SIGNATURE:

I certify that I am authorized to execute this Certificate of Compliance on behalf of the Bidder set forth on the Bidder Summary Sheet, that I have personal knowledge of all the information set forth herein and that all statements, representations, that the bid is genuine and not collusive, and information provided in or with this Certificate are true and accurate.

The undersigned, having become familiar with the Project specified in this bid, proposes to provide and furnish all of the labor, materials, necessary tools, expendable equipment and all utility and transportation services necessary to perform and complete in a workmanlike manner all of the work required for the Project.

ACKNOWLEDGED AND AGREED TO:
Lax Schol
Signature of Authorized Officer
Gary S. Schumal
Name of Authorized Officer
President
Title
Jun 7, 2021
Date

REFERENCES

Provide three (3) references for which your organization has performed similar work.

Bidder's Name:	Austin Tyler Construction, IIIC
	(Enter Name of Business Organization)
1. ORGANIZATION	City of Cockport
ADDRESS	17112 Prime BLUB LOCKPORT, Il
PHONE NUMBER	(8,5) 838-0549
CONTACT PERSON	Das Hausen
YEAR OF PROJECT	2020 MD 2021 Different Project
2. ORGANIZATION	City of Journ of British
ADDRESS	150 W. JEFFERN St. Jouret, IR
PHONE NUMBER	(108) 428 - 2090 RAN KOEN, R (BATURO)
CONTACT PERSON	RAS Kassis
YEAR OF PROJECT	2019 2020 + 2021 Different Arriver
3. ORGANIZATION	Vicense of Newlawor
ADDRESS	1 Jeramis Pray New Lever, Fr
PHONE NUMBER	(8.5) 462-6400
CONTACT PERSON	Will Wash
YEAR OF PROJECT	2020



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 8/13/2020

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	SUBROGATION IS WAIVED, subject Is certificate does not confer rights to							equire air endorsement.	M Sia	dement on
PRODUCER					CONTACT Elizabeth Marro					
Rol	pertson Ryan & Associates, Inc						0.3400	FAX (A/C, No): 6	330.420	1.8520
1770 Park Street, Suite 210 Naperville IL 60563			PHONE (A/C, No, Ext): 630.420.3400 FAX (A/C, No): 630.420.8520 E-MAIL ADDRESS: emarro@robertsonryan.com							
	307 VIII 0 12 00000				7.00KEC			DING COVERAGE		NAIC#
					INSURF			ity Company of America		25666
INSU	RED			AUSTYL1				Insurance Company		30481
	stin Tyler Construction, Inc								er ut	25682
	et Asphalt, LLC 343 S. Ridge Road									16691
	ood IL 60421				INSURE		WILLING HT II	TOOM TOOL COMM THAT		
COV	VERAGES CER'	TIEIC	ATE	NUMBER: 1567768102	INSURE	<u> </u>		REVISION NUMBER:		
	HIS IS TO CERTIFY THAT THE POLICIES				VE BEEN	VISSUED TO			IE POLI	CY PERIOD
IN	DICATED. NOTWITHSTANDING ANY RE	QUIR	EMEN	NT, TERM OR CONDITION	OF ANY	CONTRACT	OR OTHER D	OCUMENT WITH RESPEC	CT TO V	VHICH THIS
	ERTIFICATE MAY BE ISSUED OR MAY F CCLUSIONS AND CONDITIONS OF SUCH I							HEREIN IS SUBJECT TO) ALL I	UE IEKIVIO,
NSR LTR	TYPE OF INSURANCE	ADDL	SUBR WVD	POLICY NUMBER		POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	s	
C	X COMMERCIAL GENERAL LIABILITY	INSD	WVD	VTOCO3L20868720		8/25/2020	8/25/2021	EACH OCCURRENCE	\$2,000,	000
_	CLAIMS-MADE X OCCUR					3,23,2020	-,,	DAMAGE TO RENTED	\$ 300,00	
	CLAIMO-IMADE [1] OCCUR							PREMISES (Ea occurrence)	\$ 10,000	
	X Contractual Ligh							MED EXP (Any one person)		
	- Contradical France							PERSONAL & ADV INJURY	\$ 2,000,	
	GEN'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGATE	\$4,000	
	POLICY PRO- JECT LOC							PRODUCTS - COMPIOP AGG	\$4,000 \$,000
	OTHER:			VE 10 VD01 00002500		olar landa	0/05/0004	COMBINED SINGLE LIMIT (Ea accident)	\$ 1,000	000
Α				VTJGAP3L20867520		8/25/2020	8/25/2021	(Ea accident) BODILY INJURY (Per person)	\$ 1,000	,000
	X ANY AUTO SCHEDULED								S	
	AUTOS ONLY AUTOS							BODILY INJURY (Per accident) PROPERTY DAMAGE		
	X HIRED X NON-OWNED AUTOS ONLY							PROPERTY DAMAGE (Per accident)	\$	
									\$	
D	X UMBRELLA LIAB X OCCUR			TUU032404009		8/25/2020	8/25/2021	EACH OCCURRENCE	\$15,00	
	EXCESS LIAB CLAIMS-MADE							AGGREGATE	\$ 15,00	0,000
	DED X RETENTION\$ 10,000							LA LOCO LATH	\$	
Α	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y/N			UB-2N155867-20-25-D		8/25/2020	8/25/2021	X PER OTH-	ļ	
	ANYPROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?	NIA						E.L. EACH ACCIDENT	\$ 1,000	,000
	(Mandatory In NH)							E.L, DISEASE - EA EMPLOYEE	\$ 1,000	,000
	if yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT	\$ 1,000	
C B	Inland Marine Pollution Liability			QT6601C964842COF20 ZEV21P31889		8/25/2020 8/25/2020	8/25/2021 8/25/2021	Leased/Rented Site & Premises	\$500, 3,000	.000
	Installation Floater			22.72.11 0.1000		O/LG/LGLG	0,20,202	Installation Floater	\$750,	,000
		<u> </u>	<u> </u>				<u></u>		L	
DES	CRIPTION OF OPERATIONS / LOCATIONS / VEHIC	LES (/	CORE	101, Additional Remarks Sched	ule, may b	e attached if mor	re space is requir	ed)		
						,				
CERTIFICATE HOLDER			CAN	CELLATION						
					1					
								DESCRIBED POLICIES BE C		
								EREOF, NOTICE WILL CYPROVISIONS.	pe DE	LIVEKED IN
					.,,,,					
ĺ	Proof Of Insurance				AUTHO	RIZED REPRESI	ENTATIVE			
					1 /	1 111.	l Sporg	· la -		
	1				1 11	uir PUNI	V GLOONG	co-		

BIDDER'S CERTIFICATION FORM (BID PROPOSAL)

for Silverlake Stage 1, to the VI	_ (Name of Bidder), having submitted a bid on a c LLAGE, hereby certifies that said BIDDER is not barre
	ntract as a result of a violation of either 720 ILCS 5/33
	lar statute of another state or of a federal statute containing
	Day M. S. C. C.
	By: A Loll Authorized Agent of BIDDER

THOMAS J PELSI
Official Seal
Notary Public - State of Illinois
My Commission Expires Feb 26, 2023

The VILLAGE reserves the right to reject any or all bids, to waive technicalities in bidding.

BIDDER'S CERTIFICATION OF PRIOR PUBLIC WORKS PROJECTS

Gary S. Schumai	, being duly sworn and under oath states as follows:
I am the duly on	therized exert egaletin Tyler Constructions Inc

- 1. I am the duly authorized agent of AUSTIN IYIEF CONSTRUCTION BILLIEF") and am authorized to execute this certification on behalf of the Bidder.
- 2. In the five (5) year period immediately preceding the date of this certificate, the Bidder served as a general CONTRACTOR or subcontractor for the State of Illinois ("state") or any county, township, municipality or other political subdivision of the State as listed on Exhibit "A".
- 3. For the ten (10) year period immediately preceding the date of this certificate, listed on Exhibit "B" are all projects or work where the Bidder was removed as a general CONTRACTOR or Subcontractor or was subject to the payment of damages, or was involved in any litigation as a party, or had a claim made against any bond posted by the Bidder.
- 4. The Bidder agrees that any misrepresentation in this certification shall be deemed to be a material breach of the Contract.

Affiant sayeth further naught.

Subscribed and Sworn to before

me this 774 day of Juny , 2021.

THOMAS J PELSI Official Seal Notary Public - State of Illinois My Commission Expires Feb 26, 2023 # WILL COUNTY AWARD Project of The year

EXHIBIT "A"

	DATE	PROJECT	UNIT OF	CONTACT PERSON	PHONE NUMBER
	-/	24 5 () 44/ 70/	GOVERNMENT		
X	7/2020	Briggs-WASHINSton	WILL COUNTY	Steve	(845) 727 -
		TO ISO RECONSTRUCT	D.O.T.	PEARSON	8476
	4/	2 NO - STH \$ 19TH-18TH	Corpor	DAN	(85) 838-
	14040	2ND-STH \$ 14TH-18TH WATERMAN Y ROADWAY	Lockport	DAN HANSON	0549
	7/	FOREST & WOOD	VILLAGE OF	Wick	(815) 462-
	12020	FOREST & WOOD WATERMAIN	New Lewist	NA54	6400
	5/	RAYNOR Phase 2B	City of	RAY KOENIS	(708) 478 -
	12020	WATE MAIN	Jouer	& BAKTER WOODEN	· ·
	10/	KISHWAUKCE	K. SHWAUKER	MIKE HOLLMAD	(815) 758 -
	12020	HARNESTURE Trans	WATER RECLAMADO	٠٠٠ سا	3513
	12/	DEWNERS Grove	VILLAGE OF	NATE	(630) 484
	12019	2019 W. W. From.	Donners Grave	HAWK	5460
	11/	JOLIET BELMONT	Cityof	BriAN FULHS	(630) 682 -
	12019	JOLIET BELMONT DNTGLEMP	Jours	(RIN Group)	4700
	91	Us wego south	VILLAGE OF	505AU	(630) 551 -
`	12021	M40,500 W.M.	05wego	QUASNEY	2161
	4/	JOLICT Trop	Johner	DANVIEL VERA	(815) 726-
	wu	OAKWOOD CEMETRY	Township	TOWNSHIP SIDE VISOR	4781
	41	Green GARANT PAULIUS ROAD	Graen Garden	Jim	(8.5) 469 -
	12021	PAULIUS ROAD	Towns4.p Hishury	HILLIMO	5018
	7/	FrANCIS & PARKE	Wice Coura		(fis) 727 -
	12020	Francis & Panka Reconstruction	DOT	PEARTON	8476
					Constitution and the second se

nitial:	Date: 7/1/202/
---------	----------------

EXHIBIT "B"

DATE	PROJECT	UNIT OF GOVERNMENT	CONTACT PERSON	PHONE NUMBER
		, 9		
			H	
			11/2	
			V	

Initial: X/A Date: //1202/		M I	7/9/
	Initial:	D. A	Date. · . · ·



Unit Price Sheet ITB 21-038

Silver Lake West Water Main Replacement

Proposer agrees to furnish to the VILLAGE all necessary materials, equipment, labor, etc. to complete the Silverlake Stage 1 in accordance with provisions, instructions, and specifications of the VILLAGE for the prices as follows:

ITEM	DESCRIPTION	QTY	UNIT	U	NIT PRICE	Cost
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	60	UNIT	\$	30.00	\$ 1,800.00
2	TREE ROOT PRUNING	100	EACH	\$	0.01	\$ 1.00
3	TRENCH BACKFILL, SPECIAL	8000	CU YD	\$	0.01	\$ 80.00
4	TOPSOIL FURNISH AND PLACE, 6"	4500	SQ YD	\$	5.00	\$ 22,500.00
5	SODDING	4500	SQ YD	\$	12.50	\$ 56,250.00
6	SUPPLEMENTAL WATERING	10	UNIT	\$	1.00	\$ 10.00
7	INLET FILTERS	60	EACH	\$	0.01	\$ 0.60
8	AGGREGATE FOR TEMPORARY ACCES	200	TON	\$	0.01	\$ 2.00
	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	500	SQ YD	\$	71.00	\$ 35,500.00
10	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	11000	SQ FT	\$	6.50	\$ 71,500.00
	DRIVEWAY PAVEMENT REMOVAL	630	SQ YD	\$	18.00	\$ 11,340.00
	COMBINATION CURB AND GUTTER REMOVAL	2250	FOOT	\$	8.50	\$ 19,125.00
	SIDEWALK REMOVAL	11000	SQ FT	\$	2.00	\$ 22,000.00
	CLASS D PATCHES, TYPE IV, 2 INCH	7500	SQ YD	\$	21.00	\$ 157,500.00
	STORM SEWER REMOVAL 12"	880	FOOT	\$	14.00	\$ 12,320.00
	STORM SEWER REMOVAL 18"	40	FOOT	\$	16.00	\$ 640.00
	STORM SEWER REMOVAL 24"	470	FOOT	\$	21.50	\$ 10,105.00
	WATER MAIN 6"	240	FOOT	\$	90.00	\$ 21,600.00
	WATER MAIN 8"	5110	FOOT	\$	98.00	\$ 500,780.00
	WATER MAIN 12"	2260	FOOT	\$	118.00	\$ 266,680.00
	WATER VALVES 8"	15	EACH	\$	1,800.00	\$ 27,000.00
	WATER VALVES 12" FIRE HYDRANTS TO BE REMOVED	7	EACH	\$	2,800.00	\$ 19,600.00
		22	EACH	\$	450.00	\$ 9,900.00
23	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	22	EACH	\$	5,200.00	\$ 114,400.00
24	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 11 FRAME, OPEN LID	13	EACH	\$	2,500.00	\$ 32,500.00
25	CATCH BASINS, TYPE C, 2'-DIAMETER, TYPE 11 FRAME, OPEN LID	19	EACH	\$	1,400.00	\$ 26,600.00
26	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	3	EACH	\$	2,500.00	\$ 7,500.00
27	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2	EACH	\$	3,600.00	\$ 7,200.00
28	VALVE VAULTS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	15	EACH	\$	2,200.00	\$ 33,000.00
29	VALVE VAULTS, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	7	EACH	\$	3,600.00	\$ 25,200.00
30	REMOVING MANHOLES	5	EACH	\$	500.00	\$ 2,500.00
	REMOVING CATCH BASINS	32	EACH	\$	500.00	\$ 16,000.00
	COMBINATION CONCRETE CURB AND GUTTER, TYPE M- 2.12	2250	FOOT	\$	33.00	\$ 74,250.00
	NON-SPECIAL WASTE DISPOSAL	50	CU YD	\$	0.01	\$ 0.50
	MOBILIZATION	1	L.SUM	\$	50,000.00	\$ 50,000.00
	ADJUSTING SANITARY SEWER SERVICE LINE	750	FOOT	\$	50.00	\$ 37,500.00
	AS-BUILT DRAWINGS	1	L.SUM	\$	3,000.00	\$ 3,000.00
37	CONNECTION TO EX DRAINAGE STRUCTURE BY CORE DRILL	3	EACH	\$	2,000.00	\$ 6,000.00
	CONSTRUCTION LAYOUT	1	EACH	\$	20,000.00	\$ 20,000.00
	CURED IN PLACE WATER MAIN LINING	590	FOOT	\$	220.00	\$ 129,800.00
	DETECTABLE WARNINGS	330	SF	\$	16.00	\$ 5,280.00
	DUCTILE IRON WATERMAIN 12" IN CASING	190	FOOT	\$	210.00	\$ 39,900.00
	ITEMS ORDERED BY ENGINEER	1	L.SUM	\$	25,000.00	\$ 25,000.00
	MECHANICALLY PLUG AND BLOCK WATER MAIN	13	EACH	\$	500.00	\$ 6,500.00
44	SANITARY SEWERS (WATER MAIN REQUIREMENTS) 8"	115	FOOT	\$	70.00	\$ 8,050.00
1 215 1	NON-PRESSURE CONNECTION TO EXISTING WATER MAIN	9	EACH	\$	4,800.00	\$ 43,200.00

46	STORM SEWERS (WATER MAIN REQUIREMENTS) 12"	880	FOOT	\$	65.00	\$	57,200.00
47	STORM SEWERS (WATER MAIN REQUIREMENTS) 18"	40	FOOT	\$	110.00	\$	4,400.00
48	STORM SEWERS (WATER MAIN REQUIREMENTS) 24"	470	FOOT	\$	160.00	\$	75,200.00
49	WATER MAIN FITTINGS	7500	LBS	\$	0.01	\$	75.00
50	WATER SERVICE REPLACEMENT, WITH NEW BUFFALO BOX, LONG SIDE - 1"	79	EACH	\$	2,350.00	\$	185,650.00
51	WATER SERVICE REPLACEMENT, WITH NEW BUFFALO BOX, SHORT SIDE - 1"	70	EACH	\$	1,925.00	\$	134,750.00
52	TREE TRIMMING	50	EACH	\$	0.01	\$	0.50
53	EXPLORATION TRENCH (SPECIAL)	100	CU YD	\$	30.00	\$	3,000.00
54	VALVE VAULTS TO BE REMOVED	17	EACH	\$	500.00	\$	8,500.00
55	TRAFFIC CONTROL AND PROTECTION, SPECIAL	1	L.SUM	\$	26,600.00	\$	26,600.00
56	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 5"	200	SQ YD	\$	74.00	\$	14,800.00
57	DUST CONTROL WATERING	50	UNIT	\$	50.00	\$	2,500.00
*GRAND TOTAL BID PRICE \$ 2,492						2,492,289.60	

*Please enter Total Cost on Bidder Summary Sheet

Proposer:	Gary S. Schumal	
Firm Name:	Austin Tyler Construction, Inc	
Signed:	Had Sh	
Title:	President	
Dated:	7. lul 21	

Copy #1

BID BOND

Hudson Insurance Company 100 William Street, New York, NY 10038

CONTRACTOR:

(Name, legal status and address)
Austin Tyler Construction, Inc.
23343 S. Ridge Rd.,
Elwood, IL 60421

OWNER:

(Name, legal status and address)
Village of Orland Park
14700 Ravinia Ave.,
Orland Park, IL 60462

BOND AMOUNT: Ten Percent of Bid Amount (10%)

PROJECT:

(Name, location or address, and Project number, if any)

Silverlake Stage 1 Water Main Improvements - REBID

SURETY:

(Name, legal status and principal place of business)
Hudson Insurance Company
100 William Street
New York, NY 10038

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and sealed this 30th day of June	<u> </u>	CONSTRUCTION
(Witness)	Austin Tyler Construction, Inc. (Principal) (Title) (Title) (Tay S. Schumal, President Hudson Insurance Company) (See)
Synth Ryl. L (Withess)	(Surety) Chyalett Muse (Title) Attorney-In-Fact (Surety) Elizabeth	(Seal)



BID BOND POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That HUDSON INSURANCE COMPANY, a corporation of the State of Delaware, with offices at 100 William Street, New York, New York, 10038, has made, constituted and appointed, and by these presents, does make, constitute and appoint Lewis Mark Spangler, Lynn M. Blaylock, Christopher L. Spangler,

Elizabeth Marro and Christine Cannella

of the State of Illinois

its true and lawful Attorney(s)-in-Fact, at New York City in the State of New York, each of them alone to have full power to act without the other or others, to make, execute and deliver on its behalf, as Surety, bid bonds for any and all purposes.

Such bid bonds, when duly executed by said Attorney(s)-in-Fact, shall be binding upon said Company as fully and to the same extent as if signed by the President of said Company under its corporate seal attested by its Secretary.

In Witness Whereof, HUDSON INSURANCE COMPANY has caused these presents to be of its Senior Vice President thereunto duly authorized, on this 7th day of November, 20 17 at New York, New York. (Corporate seal)

Dina Daskalakis, Corporate Secretary

STATE OF NEW YORK SS.

COUNTY OF NEW YORK

HUDSON INSURANCE COMPANY

Cifone, Senior Vice President

On the 7th day of November , 20 17 _ before me personally came Michael P. Cifone to me known, who being by me duly sworn did depose and say that he is a Senior Vice President of HUDSON INSURANCE COMPANY, the Company described herein and which executed the above instrument, that he knows the seal of said Company, that the seal affixed to said instrument is the corporate seal of said Company, that it was so affixed by order of the Board of

(Notarial Scal)

Directors of said Company, and that he signed his name thereto by like order. Walakis hereby (

'which /

'007.

ANN M. MURPHY

Notary Public, State of New

No. 01MU6067553

Qualified in Nassau County

Commission Expires December 10, 2021

CERTIFICATION

STATE OF NEW YORK COUNTY OF NEW YORK

The undersigned Dina Daskalakis hereby certifies:

THAT the original resolution, of which the following is a true and correct copy, was duly adopted by unanimous written consent of the Board of Directors of Hudson Insurance Company dated July 27th, 2007, and has not since been revoked, amended or modified:

"RESOLVED, that the President, the Executive Vice Presidents, the Senior Vice Presidents and the Vice Presidents shall have the authority and discretion, to appoint such agent or agents, or attorney or attorneys-in-fact, for the purpose of carrying on this Company's surety business, and to empower such agent or agents, or attorney or attorneys-in-fact, to execute and deliver, under this Company's seal or otherwise, bonds obligations, and recognizances, whether made by this Company as surety thereon or otherwise, indemnity contracts, contracts and certificates, and any and all other contracts and undertaking made in the course of this Company's surety business, and renewals, extensions, agreements, waivers, consents or stipulations regarding undertakings so made; and

FURTHER RESOVLED, that the signature of any such Officer of the Company and the Company's seal may be affixed by facsimile to any power of attorney or certification given for the execution of any bond, undertaking, recognizance, contract of indemnity or other written obligation in the nature thereof or related thereto, such signature and seal when so used whether heretofore or hereafter, being hereby adopted by the Company as the original signature of such officer and the original seal of the Company, to be valid and binding upon the Company with the same force and effect as though manually

THAT the above and foregoing is a full, true and correct copy of Power of Attorney issued by said Company, and of the whole of the original and that the said Power of Attorney is still in full force and effect and has not been revoked, and furthermore that the Resolution of the Board of Directors, set forth in the said Power of Attorney is now in force.

Witness the hand of the undersigned and the seal of said Company this (Corporate seal)

Dina Daskalakis, Corporate Secretary

G:\Underwriting\Underwriter Files\Surety\General Surety\Powers & Seals\Powers\POA templates\Word version\Form Bid 8 2010 (v9).doc